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A)

B) Jaden counted the number of trees in an orchard. There were 17 apple trees,

38 orange trees, 27 lemon trees, 10 peach trees, and 9 plum trees. What is the

median of the number of trees?

1) 7, 47, 28, 19, 35

Median = 

2) 31, 9, 30, 50, 49, 13, 24

Median = 

3) 15, 48, 40, 2, 36, 34, 25

Median = 

4) 2, 4, 9, 15, 9

Median = 

5) 5, 42, 37, 19

Median = 

6) 42, 3, 12, 17, 10, 36

Median = 

7) 40, 8, 27, 50, 16, 43

Median = 

8) 42, 46, 38, 11

Median = 

Calculate the median of the following data points.

Finding the Median
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